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QUESTION 1

A.
Red Company White Company  Blue Company

Average total assets ? ? E 600,000
Net operation income E 100,000 ? 120,000
Sales 1,400,000 E 440,000 1,400,000
Return on investment 5% ? ?
Margin on sales ? 10% ?
Asset turnover ? 1.8 ?
Required:

‘a) Fill in the missing information (2 Marks each)
B

Cali Mining Equipment Inc. manufactures various pieces of equipment used in the extraction
industry. For 2013, the company’s Conveyor System Division had the following performance targets:
Asset turnover 1.6

Profit margin 8%

The actual 2013 results for the division are summarized below:

Total assets at year end 2012 E 4,800,000
Total assets at year end 2012 6,400,000
Sales 7,200,000
Operating expenses 6,400.000
Required: . : ‘
a) For 2013, did the Conveyor Systems Division achieve its target objectives for ROI, asset
turnover, and profit margin ? (11 Marks)

b) If Cali Mining Equipment, Inc. has an overall target return of 12.8%, what was the Conveyor
System Division’s residual income for 2013? (11 Marks)

Total (40 Marks)




QUESTION 2

A. i) Under what instances or circumstances would the PERT technique be used (5 Marks)
ii) Write short notes on the following terms used in PERT:

Slack

Critjcal path

Net work

Events

Activity time/duration

(S Marks)

B. The following schedule for Phangisa Ltd contains activities and variable time estimates

necessary to produce Bikes.
Activity Weeks
Activi Representation a m b
A 12 4 6 7
B 1-3 2 3 5
C 14 5 6 7
D 1-4 1 2 3
E 1-5 1 2 4
F 1-5 2 4 6
G 1-5 1 3 4
H 1-6 7 8 9
I 1-6 1 2 3

Required: Using the above information,

i) Draw a presentation of PERT network

ii) Compute the time(te) necessary to complete an activity
iii) Identify the critical path

(8 Marks)

(8 Marks)

(4 Marks)
Total (30 Marks)

R



QUESTION 3

Manqoba Ltd purchased a special machine a year ago at a cost of E12500. At that time, the machine
was estimated to have a useful life of six years and a E500 disposal value. The annual cash operating
cost is approximately E20,000.

A new machine that has just come on the market will do the same job but with an annual cash
operating cost of only E17,000. This new machine costs E16,000 and has an estimated life of five
years with a E1000 disposal value. The old machine could be used as a trade-in at an allowance of
E5,000. Straight line depreciation is used and the company’s income tax rate is 50 percent.

Required:
Compute the internal rate of return on the new investment. Total (30 Marks)



QUESTION 4

A. From an organizational point of view, two approaches to transfer pricing are: (a) to let
managers of profit centres bargain with one another and arrive at their own transfer prices and

(b) to use the prevailing market price as a transfer price.
Required: Identify the advantages and disadvantages of each approach. (15 Marks)

'B. Dumako Ltd has two decentralized divisions, A and B. Divison A has always purchased
certain units from Division B at E75 per unit. Because Division B plans to raise prices to
E100 per unit, Division A considering purchasing these units from outside suppliers at E75

perunit.  Division B’s costs are as follows:

B’s variable cost per unit ~ E70

B’s annual fixed costs E15,000

A’s purchase 1000 units

If Division A buys from an outside supplier, the facilities Division B uses to manufacture

these units will remain idle.

Required:
Would it be more profitable for the company to enforce the E100 transfer price than to allow
A to buy from outside suppliers at E75 per unit (15 Marks)

| Total (30 Marks)



